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2 3 12 4 22 3 32 1
3 3 13 4 23 2 33 3
4 3 14 2 24 4 34 4
5 2 15 4 25 4 35 4
6 1 16 3 26 4 36 3
7 1 17 4 27 2 37 2
8 3 18 4 28 1 38 3
9 2 19 2 29 1 39 1

10 4 20 2 30 3 40 2
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Vii. Atrue B false C true D true

Viii. any correct answer ix. MSD -4 LSD-2
X any correct answer
2. I. ULSI/AI (m1) ii. any correct answer (m 2) iii. For each field (1 x 3 m)

Iv. £588 ®enn ®s B DE® 06 eEMNDS wWedddy 10 (1 x 4 m)

3.i. Any 2 input devices (m1) ii. (m 2)iii. any correct answer (m 3) iv. any correct answer (m
3)

4.1.A-24 ,B-8, C-7, D-10 , E-4 (1 x5m) ii. For the correct method (m1)
iii. A- left aligned, b- line spacing c- Italic  d- bullets(1 x 4m)

5.1. =B2*C2 i. a-D2, B-D5 iii. =SUM(D2:D5) iv. =MAX(D2:D5) v. = D6+D7
(5 x 2m=10)
6.

i.Should name the gates and draw them properly (3m)
i.

7.12.53GHZ ii. 2GB iii. Personal computer
iv. “No pen and touch input is available for this display”
V. any correct answer (m 2 x 5=10)



